20154 E PASSING
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(AR IELL)

RATING POINTEH

INAFRE A USAFYEBVY—Lx8. 4)+ (ByFAHYUEX 3. 3) — (A3 —tTrEX2)

QB RATING JE <H#E# 10mLLE/HAE>

IERL [Fryvs| K248 | BS EF4A 2F [REH[FETZ] INT [ YDS] TD [LONG[RIIZE|RATING
1 T EBK 12 8K &% 3 181 118 2| 1583] 16/ 64| 65.2 165.6
2l T EiEH 12 [#EX #X 3 88 49 3] 790] 11| 85| 557 165.5
3| T HAX 10 [FEZE ZE4 4 188 121 5| 1484] 16| 72| 64.4 153.4
4 T HAXX | 18 [E8 BT 3 101 62 1| 767 5|  44] 614 139.5
5] T BEX 5 |'hE #®X 2 119 68 4] 885 5| 571 57.1 126.8
6] T hRx | 12 [##H = 3 150 77 4] 840 5] 49] 513 104.0
71 T BH&EX 16 |5 BX 4 89 46 6] 474 3] 50 517 94.1
8 T BRA 15 | RE 1 77 34 2] 390 2] 50 44.2 90.1
ol T FEX 10 [/hR B# 2 163 75 5 665 4] 56| 46.0 82.2
0] T BEA 18 |F 58 3 133 63 8| 648 2| 45| 474 81.2

ARIIE <BHEH 1o0EEkFE HAE>

IERE [Fayvs| K248 | BS EF4A 2 [RAEE|EETS] INT [ YDS| TD [LONG]EIhE[RATING
i T H#EX 11 Ik Bz 1 68 36 3] 387 1 32| 529 96.8
2| T EiEH 10 |BA &4 4 56 30 4] 331 3] 42| 536 106.6
3 T FaE PN 13 |#[E B 2 41 26 4] 393 4] 52| 634 156.6
4] T BEX 4 [iIs B 4 29 24 0] 254 3] 29| 828 190.5
5| T Bl 7 _RE BR 2 30 18 2| 198 2| 38| 60.0 124.1
6] T FEX | 12 |HE & 1 27 13 [ 95 o] 21 481 70.3
71 T EBR 18 |BEE BERAER 2 17 12 1 93 1 21 706 124.2
8 T BEKX | 10 |FH AKX 4 11 7 0] 90 1] 23] 63.6 162.4
9l T BEX 12 [KA fEH 3 6 3 of 13 0 6] 50.0 68.2
0] T EBK | 80 |Ei#tE &% 1 2 1 o 22 1| 22] 500 307.4
0] T SEBK | 86 WS Bk 3 2 1 o] 15 1 15] 50.0 278.0
12] T BB X 1 |=1E EH 4 2 0 0 0 0 0] 00 0.0
12 T BEX [ 29 [ & 3 1 0 0 0 0 o] 00 0.0
12] T EiEH 4 [#)Il_Kih 3 1 0 0 0 0 0] 00 0.0
12l T hRX 4 HE BER 3 2 0 0 0 0 ol 00 0.0
12 T BAX | 14 |IREF EAKER 1 1 0 0 0 0 o] 00 0.0




